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OPTION A
A WOMAN MANAGED TO BREAK UP A GANG ATTACK
1 Quick-thinking Susan Brown, 59, witnessed the prolonged attack in
Cleethorpes, on her way to her relative’s house. She put her foot down to
drive at the gang of seven thugs, causing them to disperse. Ms Brown’s
actions prevented further violence from continuing and she then rang 999.
5  Witnesses said the victim, who was later taken to Hull Royal Infirmary,
was kicked repeatedly during the 6 pm beating on Wednesday evening.
Driver Susan Brown said: ‘If I hadn’t driven at them — | think they would
have carried on kicking the poor one. I was travelling to a relative’s home
when | saw them there. | thought they were messing about — but when |
10 got closer they were completely beating up this young lad on the road. |
drove at them and sounded my horn continuously to try to disperse them —
most of them ran off.’
Crime scene investigators spent several hours combing the area and
taking fingerprints from the car of the woman who broke up the attack.
15 Humberside Police arrested three men after the attack on suspicion of
assault. A spokeswoman for the force said: ‘Officers are currently on the
scene working to establish the circumstances of the incident’.

QUESTIONS
[1] ANSWER THE FOLLOWING QUESTION ACCORDING TO THE TEXT AND USING YOUR
OWN WORDS (10 TO 20 WORDS) (2 POINTS).
What happened in Cleethorpes on Wednesday evening?

[2] ARE THE FOLLOWING STATEMENTS TRUE OR FALSE? INDICATE THE LINE(S) IN
THE TEXT SUPPORTING YOUR CHOICE (1.5 POINTS AS A WHOLE: 0.5 EACH).
2.1. A loud warning noise was one of the reasons why the gang separated and left.
2.2. Although the police are investigating the incident, they haven’t found any
suspects yet.
2.3. The victim was a young woman who was driving to her relative’s house.
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[3] CHOOSE a, b OR c. ONLY ONE CHOICE IS CORRECT ACCORDING TO THE TEXT (0.5
POINTS).

The beating didn’t stop until...

a) the police officers arrived.

b) a witness rang the emergency number.

c) a car approached the attackers.

[4] VOCABULARY (2 POINTS AS A WHOLE: 0.4 EACH).

- Find one word in the text for each of the following meanings:
a) marks which you leave on something when you touch it
b) people who see an event happening, especially a crime or an accident

- Find synonyms in the text for each of the words below:
C) now
d) criminals
e) avoided

[5] COMPLETE THE TASKS ACCORDING TO THE INSTRUCTIONS GIVEN
(1 POINT AS AWHOLE: 0.5 EACH).

5.1. Write a question for which the underlined words are the answer: Susan
Brown witnessed the attack in Cleethorpes.
5.2. Transform into active: The victim was taken to Hull Royal Infirmary.

[6] WRITE ABOUT THE FOLLOWING TOPIC USING BETWEEN 100-120 WORDS (3 POINTS).

What would you do if you saw someone being beaten up?
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OPTION B
INCREASED INEQUALITY

1 According to figures released by the International Monetary Fund (IMF), the top 20%
of Spanish society earns nearly seven and a half times more than the bottom 20%. This
puts Spain third on the list of EU countries where the wealthy take a bigger piece of the
pie.

5  “As a result of the crisis, social indicators deteriorated sharply,” reads the IMF’s
annual report on the Spanish economy. The report analyses the consequences of the
crisis on income distribution, warning that although a fast pace of job creation has
helped reduce them, the benefits of the recovery are being unevenly shared among
different generations and different education levels: “Job losses affected

10 disproportionally low-educated/low wage workers, youth, and immigrants, particularly
working in the construction sector under temporary contracts (...) The number of people
at risk of poverty or social exclusion increased by more than 23 percent between 2007
and 2015 in Spain.”
The IMF recommends implementing policies to improve “the employability of young
15 and low-skilled workers” as a “policy priority to reduce risks of social exclusion among
vulnerable groups.” The increase in inequality, the study suggests, is not so much due to
higher income among the top earners as to the poor situation at the bottom of the
economic ladder.

QUESTIONS
[1] ANSWER THE FOLLOWING QUESTION ACCORDING TO THE TEXT AND USING YOUR
OWN WORDS (10 TO 20 WORDS) (2 POINTS).
Why does the IMF consider the Spanish crisis recovery has failed to produce its
desired effects?
[2] ARE THE FOLLOWING STATEMENTS TRUE OR FALSE? INDICATE THE LINE(S) IN
THE TEXT SUPPORTING YOUR CHOICE (1.5 POINTS AS A WHOLE: 0.5 EACH).
2.1. The risen inequality mainly results from the lowest economic sectors’ bad
conditions.
2.2. Concerning income distribution, Spanish economy is within the average
regions of the Eurozone.
2.3. Those under temporary contracts in the construction sector suffered the lowest
job losses.
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3] CHOOSE a, b OR c. ONLY ONE CHOICE IS CORRECT ACCORDING TO THE TEXT (0.5
POINTS)

During the studied period, the possibility of becoming economically or socially
marginalised. ..

a) was no longer a serious threat.
b) rose considerably.
c) kept on growing up to a point of no return.

[4] VOCABULARY (2 POINTS AS A WHOLE: 0.4 EACH).

- Find one word in the text for each of the following meanings:
a) the group of skills that allow someone to get a job
b) legal documents that state legal agreements between two parties

- Find a synonym in the text for each of the words below:
¢) building
d) data
e) preference

[5] COMPLETE THE TASKS ACCORDING TO THE INSTRUCTIONS GIVEN

(1 POINT AS A WHOLE: 0.5 EACH).

5.1. Transform into reported speech: “How much has the gap between the rich and
the poor been slowing down growth so far?” Begin with: A journalist asked the
spokesman...

5.2. Join the two sentences using a relative pronoun: Politicians should consider a
redistribution of wealth through subsidies and taxes. Their responsibility is to
control inequality.

[6] WRITE ABOUT THE FOLLOWING TOPIC USING BETWEEN 100-120 WORDS
(3 POINTS).
How do you feel about this increased inequality and what do you think we, as
citizens, could do about it?
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